=)

T ¢§ 91. INMEHEBIRT R (92. MEBETER 93. LEFAEER

2| NBEL [ (AOFALTY) | NBLL [%o(AOFAZEY) [ NERL [% (AOFAZ1Y)
EEIGi 27 100 31 1.86 1 8.09
EFmH 17 1.45 11 3.40 9 3.65
7= 22 1.24 20 2.65 15 3.27
mEf 32 0.79 30 2.01 4 4.44
TES 21 1.27 24 2.44 6 416
JAlgTH 25 1.07 17 3.07 12 3.36
BET™H 31 0.86 22 253 2 496
TiEFKT 9 1.71 6 4.92 10 3.58
mA+THh 30 0.93 18 267 3 453
&Emmh 29 0.95 28 2.06 16 3.18
1l 20 1.36 19 2.65 20 2.89
BERT 11 1.57 4 5.48 8 3.67
=T AT 12 1.53 8 3.97 7 403
H EFET 23 112 21 2.62 19 3.03
ZZH BT 24 1.09 26 218 13 3.33
PlAIIE s 13 1.52 1 6.07 18 3.08
B 4 2.21 34 1.11 - -
=rF 33 0.53 33 1.32 11 3.43
ALLET 18 1.39 3 5.57 17 3.14
REHRT 1 3.14 5 524 28 1.90
T TErT 15 1.51 14 327 22 2.56
KINF+ - -| 23 250 - -
LT 26 103 29 2.01 5 417
=€) /T 6 1.98 2 5.94 21 2.79
bt {ZHT 7 1.84 9 3.69 24 248
& )11 BT 8 1.76 10 344 23 2.55
AN ET 5 2.07 7 431 26 212
EIRET 19 138 32 1.38] 30 1.13
BHE# 28 0.98 13 334 27 1.98
FEETET 14 1.52 12 3.37 31 0.69
/a5 + BT 10 1.60 15 3.19 14 3.31
XA 3 3.07 25 230 29 1.78
=FEH 2 313 16 313 32 0.65
vy 16 1.49 27 211 25 2.40
= 5E 1.14 237 5.65
ER ERR30E TER30E ER30E
& AOBENE. FREXSEAD | ADDERE. tREASBAD [JLRIFETE
HFT EXEFEL. BEY E4E5EE. BEE BERKE

XM EEREBICKDIET [(MEERICKDFETESR [FaA4%/A0 x 1000
k= /A0 x 1000 (BMmEHEZERO/AO
x 1000

92. IMRBIRTE

(%0 (AOFAHED))

5.48
3.69
3.27
2.65
244
2.01

40km
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HETH A |1 94 JLFEBER 95. MK FAEHE 96. KKEEHE

% | IBfL (% JERL [ (AOFALEY) | NBEL | FH K #87-Y)
EEIGi 26 34.27 30 0.27 21 248
EFmH 4 59.18 6 1.19 13 1,039
7= 20 43.86 22 0.46 3 4,699
mEf 13 54.50 28 0.29 14 1,039
TES 14 50.44 26 0.37 23 131
JAlgTH 7 58.11 20 0.50 7 2,720
BET™H 9 56.86 31 0.15 2 5,118
TiEFKT 11 55.10 3 1.39 18 443
mAE+mH 5 59.09 27 0.35 30 9
&Emmh 23 37.74 23 0.45 22 217
1l 21 4342 16 0.65 12 1,197
BERT 18 44.44 2 204 25 96
=T AT 22 38.46 18 0.62 20 326
H EFET 24 37.50 13 0.76 9 2,204
% HET 10 55.56 - - - -
Je)4F 1 200.00 - - - -
B - - 7 1.12 - -
=rF 29 23.08 8 1.06 4 3,193
ALLET 12 54.55 12 0.86 5 2,745
REHRT 8 57.14 1 244 24 102
T {EHT 15 50.00 5 1.28 17 479
KINF+ - - - - - -
LT 25 35.42 25 0.39 27 58
=€) /T 30 13.33 14 0.74 10 1,840
bt {ZHT 6 58.82 11 0.87 19 415
51| BT 28 27.27 21 0.46 16 671
Fagsiliing 31 8.33 15 0.71 28 54
EIRET 15 50.00 29 0.28 26 77
BE& 27 30.00 24 0.40 15 1,008
FEETET 2 100.00 19 0.51 6 2,737
/a5 + BT 17 49.12 17 0.64 11 1,318
XA 3 77.78 9 0.99 29 28
=FEH - - 4 1.31 1 29,615
2T 18 44.44 10 0.98 8 2,643
= 5E 39.63 0.43 1,062
ER ERR30E TER30E ER30E
=g LE#HKHE B HBBURERE R EHBBUREREH
HFT BEKE BEHBABURER EHBABURER
k=

95. NKFEEHK

0

M (AOFAHED)

1.31
0.99
0.74
0.51
0.40
0.28

40km




